Form 605

Corporations Act 2001 Section 671B

Notice of Ceasing to be a Substantial Holder

To Company Name/Scheme CENTENNIAL COAL COMPANY LIMITED (CEY)

ACN/ARSN 003 714 538

1. Details of Substantial Holder

Name Suncorp-Metway Limited and its subsidiaries

ACN/ARSN (if applicable) 010 831 722

The holder ceased to be a

substantial holder on 26/05/09

The previous notice was given to the company on 27/05/09

The previous notice was dated 25/05/09

2. Changes in Relevant Interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial

holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change	Consideration given in relation to change	Class & number of securities affected	Person's votes affected	
Oire a e	Suncorp Metway Investment Management Ltd	Refer Annexure 2				
Since previous notice	Tyndall Investment Management Ltd					
	New Zealand Guardian Trust Company Ltd					

3. Changes in Association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not Applicable	

4. Addresses

The addresses of persons named in this form are as follows:

Name	Address		
Refer to Annexure 1			

Signature

Print name C. Chuter		Capacity	Company Secretary
Sign here		Date	27/05/2009



Annexure 1

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	509,520
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN RP CUSTODIAN SERVICES PTY LTD	
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	2,578
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD KINGCOME TRUST	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	1,486
New Zealand Guardian Trust Company Ltd	w Zealand rdian Trust GILLINGHAM RICHARD CUSTODIAN SE		27,433
New Zealand Guardian Trust Company Ltd	HUNTER JOHN S AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	18,500
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	201,117
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,731,289
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF BTR	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	38,003
Tyndall Investment CATHOLIC SUPER FUND Management Ltd		CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	840,596

Tyndall Investment NATIONAL NOMINEES LTD Management Ltd IOOF INVESTMENT MANAGEMENT LTD		NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	792,303
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	4,162,061
Tyndall Investment Management Ltd	Investment		1,688,150
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	97,705
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	656,754
Tyndall Investment Management Ltd TYNDALL AUSTRALIAN SHARE INCOME FUND		TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	86,009
Tyndall Investment Management Ltd TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO		TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	4,959,390

		OPTIMIX INCOME		
Tyndall		STRATEGY	938,601	
Investment	OPTIMIX INCOME STRATEGY	C/O BNP PARIBAS		
Management Ltd		PO BOX R209 ROYAL		
		EXCHANGE NSW 1225		
		WORKERS		
Tundall	WORKERS COMPENSATION NOMINAL INSURER	COMPENSATION	662,428	
Tyndall		NOMINAL INSURER		
Investment		C/O BNP PARIBAS		
Management Ltd		PO BOX R209 ROYAL		
		EXCHANGE NSW 1225		
Tyndall		RAC INSURANCE PTY LTD		
Investment	ent RAC INSURANCE	GPO BOX 5078	111,051	
Management Ltd		SYDNEY NSW 2001		
ivianagement Ltu				

TOTAL UNITS 18,580,402

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS	
AMP CAPITA	L INVESTORS					
AMPC	26/05/2009	Sales	193469.86	2.0766	93406	
TYNDALL AU	STRALIAN SHA	ARE WHOLESALE	PORTFOLIO			
TASWP	26/05/2009	Sales	97107.77	2.0766	46883	
CATHOLIC SU	JPER RETIREM	ENT FUND				
CSRF	26/05/2009	Sales	19037.12	2.0766	9191	
OPTIMIX						
OPTI	26/05/2009	Sales	32796.63	2.0766	15834	
IOOF INVEST	MENT LTD					
IOOF	26/05/2009	Sales	16642.73	2.0766	8035	
MERCER INV	ESTMENT					
MERI	26/05/2009	Sales	295264.92	2.0766	142552	
NSW BUSINE	SS CHAMBER	LTD				
ABL	26/05/2009	Sales	4745.3	2.0766	2291	
RAC INSURANCE						
RACI	26/05/2009	Sales	9023.06	2.0766	4356	
TYNDALL AUSTRALIAN CORE SHARE VALUE FUND						
TACSVF	26/05/2009	Sales	54056.23	2.0766	26098	
WORKERS COMPENSATION NOMINAL INSURER						
WCNI	26/05/2009	Sales	14840.71	2.0766	7165	